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QUESTION 1

Which port is used for vSphere HA agent-to-agent communication? 

A. 902 

B. 443 

C. 8182 D. 22 

Correct Answer: C 

 

QUESTION 2

ESXi hosts with 10Gbps network cards are attached to a distributed switch. The administrator has 

upgraded to NIOC3 and wants to allow vMotion traffic to use as much bandwidth as possible but must 

ensure that other services always have sufficient bandwidth. 

How can this be done? 

A. Configure shares on the distributed switch for the vMotion traffic type. 

B. Configure limits on the distributed switch on the on vMotion traffic type. 

C. Associate vMotion traffic with a network resource pool and use CoS tagging. 

D. Set shares on user-defined network resource pool and associate it with vMotion traffic. 

Correct Answer: A 

From the Shares drop-down men, edit the share of the traffic in the overall flow through a physical adapter. Network I/O
Control applies the configured shares when a physical adapter is saturated. 

 

QUESTION 3

Which three source object types are available for subscription when creating a subscripted content library in vSphere
6.5? (Choose three.) 

A. CIFS repository 

B. vSphere 6 library 

C. HTTP server 

D. vCD 5.5 catalog 

E. 3rd-party library 

Correct Answer: BDE 
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QUESTION 4

The vSphere HA agent has been in the "Agent Unreachable" state on a single slave ESXi host for over a minute. The
master and slave ESXi hosts are connected to the vCenter Server Appliance. Which should be the first step for
validation the network configuration? 

A. Log into the affected slave ESXi host via console or SSH and attempt to ping the master ESXi host over the vSphere
HA network. 

B. Log into the master ESXi host via console or SSH and attempt to ping the vCenter Server Appliance over the
vSphere HA network. 

C. Log into the affected slave ESXi host via console or SSH and attempt to ping the vCenter Server Appliance over the
Fault Tolerance network. 

D. Log into the vCenter Server Appliance via console or SSH and attempt to ping the affected slave ESXi host. 

Correct Answer: D 

 

QUESTION 5

Which two parameters must be configured for Windows in-guest disk mirroring? (Choose two.) 

A. scsi#.returnNoConnectDuringAPD = "FALSE" 

B. scsi#.returnNoConnectDuringAPD = "TRUE" 

C. scsi#.terminateVMOnPDL = "TRUE" 

D. scsi#.returnBusyOnNoConnectStatus = "FALSE" 

Correct Answer: BD 

Latest 2V0-622 Dumps 2V0-622 PDF Dumps 2V0-622 Study Guide

Powered by TCPDF (www.tcpdf.org)

Latest 2V0-622 Dumps | 2V0-622 PDF Dumps | 2V0-622 Study Guide                                3 / 3

https://www.geekcert.com/2v0-622.html
https://www.geekcert.com/2v0-622.html
https://www.geekcert.com/2v0-622.html
http://www.tcpdf.org
https://www.geekcert.com/2v0-622.html
https://www.geekcert.com/2v0-622.html
https://www.geekcert.com/2v0-622.html

